Opérations avec deux fractions mixtes (C)

Date:

Calculez chaque résultat.

Nom:
1
1= =52 =
g
2 51'51 =
3773
5 1
1> X 5= =
3 13><53
7 1
4 5L 13= =
9”3
11
5- 1= =
s oty
11
5- 1= =
. gt l3
7 51 5 =
: _
17
R, S
s 97121
11
5- — 1= =
b037 3
1 11
5. — 4 =
1055 =493

Note:
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Opérations avec deux fractions mixtes (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

Lol s, 5 02 105
' 472 0 4711 44 T 22
1 1 16 16 16 3 48
—_ - = —= — = — —_— = — =1
2 93793 3 - 3716 a8
5 1 18 16 288 96 5
PAFX3 T 3X3 T 39 T 13 T3
L sl 52,10 52 3 156 26 _ 11
9 °""3 9 3 7 9710 90 15 = 15
1 1 11 3 11 3 14 7
gty =gty =gt =5 =1 =7
1 1 31 3 31 9 40 20
Gt T sty T % ts T 6 T 3 T 0%
Losl_gl 13133 31 2 1
2 2 6 6 6 6 3
1 7 21 31 63 31 94 47
Syt Tyt T ot T T %5 T s
1 1 16 4 16 4 12 4
%2 37l3 =33 =333 =1 = 4

11 11 67 77 67 10
2 14 2 14 14 14 14
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